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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Name one micronutrient and one macronutrient which plants take from the soil.
An athlete always runs some distance before taking a jump. Why ?

List two processes from which it may be concluded that the particles of a gas move
continuously.

State Archimedes principle.
What are rabi crops ? State any two examples.

An electric train is moving with a velocity of 120 km/hr. How much distance will it
cover in 30 s ?

Name the SI unit of measuring temperature.

The boiling point of water is 100° C under normal atmospheric pressure. Convert this
temperature in SI units.

What is meant by relative density of a substance ? The relative density of mercury is
13.6. What is its density in SI units ? Given that the density of water is 1000 kg/m?.

List two similarities between Mitochondria and Plastids.
Give reasons for the following :
(a) Gases fill completely the vessel in which they are kept.

Gases exert pressure on the walls of the containing vessel.

(a) Why does the rider fall in the forward direction when a running horse stops
suddenly ?

(b) Why is it easier to stop a tennis ball in comparison to a cricket ball moving with
the same speed ?

Name the connective tissue which helps in repair of tissues. State where this tissue is
found.
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A bullet of mass 25 g is fired horizontally with a velocity of 100 m/s from a gun of mass
5 kg. Calculate the recoil velocity of the gun.

Assuming that the mass of Earth is 100 times larger than the mass of moon and the
radius of Earth is about 4 times as that of moon, show that the weight of an object on
moon is 1/6th of that on earth.

List any three desirable characters of bee varieties suitable for honey production ?

(a) Define element
(b) Identify non metals from the following elements.

. Carbon, Potassium, Silicon, Chlorine, Mercury
(c) In what way is a mixture different from a compound ?

List any six factors for which variety improvement in crops is done.

“We can easily move our hand in air but not through any solid material.” Justify the
statement giving any three possible reasons.

State the source of centripetal force that a planet requires to revolve around the sun.
On what factors does that force depend ? Suppose this force suddenly becomes zero,
then in which direction will the planet begin to move if no other celestial body affects
it ?

Identify the given figures.
State in brief their structure
Describe the role performed by the two
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A bus accelerates uniformly from 54 km/h to 72 km/h in 10 s. Calculate :
(i) the acceleration

(ii) the distance covered by the bus in that time

Define uniformly accelerated motion. Also show that the area under a velocity-time
graph gives the magnitude of displacement.

(a) What is meant by crystallisation ? How is impure copper sulphate purified by
the process ?

(b) What is fractional distillation ? How is it different from simple distillation ?

OR

Show diagrammatically how water is purified in the waterworks system and list the
processes involved.

(a) State Newton’s second law of motion. Using this law obtain the unit of force and
define it.

(b) State the Law of Conservation of Momentum. Using this law explain why a gun
recoils.

OR

How much momentum will an object of mass 10 kg transfer to the floor, if it falls
from a height of 0.8 m ? (g=10 m/s?)

Explain why is it difficult for a fireman to hold a hose, which ejects large amount
of water at a high velocity.

What is endoplasmic reticulum ?

Describe its structure.

Name the two types of endoplasmic reticulum.

What crucial role does it play in the liver cells of vertebrates ?
What is membrane biogenesis ?

OR

What is a cell ? Why is a cell called the structural and function unit of life ?

Why is the plasma membrane called a selectivity permeable membrane ?
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SECTION - B

A slide given to you for identification consists of long narrow dead cells which have
thick boundaries. Under which tissue would you place them ?

(a) Sclerenchyma tissue. (b) Collenchyma tissue.

(c) Parenchyma tissue. (d) Meristematic tissue.

The proper set up of equipment for filtration is shown in figure.

A mixture of marble powder, common salt and ammonium chloride well shaken in
water and then filtered. The residue left on the filter paper will be :

(@) common salt. (b) ammonium chloride.

() marble powder. (d) ammonium chloride and marble powder.

When a few drops of HCI are added to test the presence of metanil yellow, the colour
which indicates its presence is :

(a) pink (b)  yellow (c) orange (d) red

A student sets up an apparatus for determining the boiling point of water. He records
the temperature after regular intervals and finds that of water when it begins to boil :

(a) remains constant.

b) continuously rises.

(
(c) first rises and then becomes constant.
(

d) first remains constant and then rises.
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31. Geeta was asked to prepare a temporary mount of onion peel and list the steps. While
writing she wrote following steps which may not be in proper sequence :
The correct sequence would be :
i)  Add few drops of safranine stain and transfer to a slide.

ii)  Cover it with a cover slip.

iii) Add a drop of glycerine.

v)  Keep the peel in water in a petri dish

C

(
(
(
(iv) Take out onion peel.
(
(
(

a) () @) () @) (v) (b) @v) (v) (@) @) @)
) @) (v) (@) () (i) d v Gv) @ @) ()

At room temperature a student sets up an apparatus to determine the melting point of
ice. He takes a beaker half filled with crushed ice and dips a mercury thermometer in
it. After this he would observe that

(a) mercury in the thermometer keeps on falling till it reads — 1° C, it remains constant
thereafter.

temperature falls, reaches 0° C and remains constant only as long as both ice
water are present in it.

the temperature falls, reaches 0° C and remains constant even after the whole of
ice has melted.

the temperature falls at the starting but starts rising as soon as the ice starts melting.

Neeta observed that a precipitate is formed when she adds :
(a) barium chloride to sodium sulphate.

(b)
(©)
(

d) hydrochloric acid to barium chloride.

barium chloride to sodium chloride.

sodium sulphate to sodium chloride.

34. While preparing a temporary mount of human cheek cells the excess glycerine on the
slide :

(a) isleftasitis.
(b) is drained by tilting the slide.

(©)

(d) is drained by tilting the slide and then the slide is wiped using a filter paper.

is allowed to evaporate.
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X is a mixture of iron filings and sulphur and Y is a product obtained by heating the
mixture X and crushing it to a fine powder. On bringing a magnet over both X and Y
Rahul observed that :

X and Y both are attracted.
X is attracted while Y is not.
Y is attracted while X is not.

Both X and Y are not attracted.

A mixture of soil and water was shaken well and then tested for its appearance, stability
and sedimentation the correctly reported set of observation is :

Appearance Stability Sedimentation
(A) Opaque Unstable Sediment
(B) Opaque Stable Sediment
© Transparent | Unstable No Sediment
(D) Transparent Stable No Sediment

The characteristic features to identify a nerve cell are :
(a) Round or oval cells with bilobed nucleus and cytoplasmic granules.

(b)  Cell body with branched cytoplasmic extensions at one end and a long projection
at the other end.

(c) Spindle shaped cell with a big central nucleus.

(d) Red coloured, biconcave disc shaped enucleated cells.

To prepare iron sulphide, by heating a mixture of iron filings and sulphur powder, we
should use a :

(a) copper dish. (b) watch glass.
(c) china dish. (d) petri dish.

The observation made about a solution of common salt in water is :
its components can be separated by filtration.
its particles are visible to the naked eye.
it shows Tyndall effect.

it is transparent and stable.
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40. Filtrate of a food product is taken in four test tubes marked A, B, C and D. Few drops
of the following is added to the test tubes to test the presence of starch :

Sulphuric acid to test tube A.

Iodine solution to test tube B.

Chlorine solution to test tube C.

Sodium hydroxide to test tube D.
Blue black colour will appear in test tube :

A

B
C
D

When a mixture of marble, sodium chloride and ammonium chloride is heated in a
China dish, dense white fumes are evolved. On cooling these fumes on a glass plate a
white deposit is obtained. This white deposite may be :

a Sodium chloride

)
b) Marble
() Sodium chloride and ammonium chloride

(d) Ammonium chloride
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